SUDDOFT Stand
S| 235MP 01.02.2003




pra
o

Article No. [Description

TOP30469 |support carrier 3.5t TK80

TOP23253 |aluminium xy support

TOP80103  |cylindric screw DIN912 M20x50 vz

TOP80120 |cylindric screw M10x16

TOP80200 flathead screw M6x12 8.8 vz

TOP30238 |sliding sheet for XY-supports

TOP30203 |XY-support crossway plate

TOP30202 |XY-support longitudinal plate

OO N|O|O|BA|WIN|—~

TOP30239 |stop for XY-support

-
o

TOP80211 flathead screw M6x10 8.8 vz.

Zeichnungsnummer

S s

Stand

support

S| 235MP 01.02.2003




